50, will be treated as malpractice.

ing blank pages.

pulsorily draw diagonal cross lines on the remainin
» appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification

Important Note : 1. On completing your answers, com
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Sixth Semester B.Arch. Degree Examlnaﬂon, Feb./Mar. 2022
Structures o—‘VI

O Mo Marks:100

Time: 3 hrs. e
Note: 1. Answer any FIVE full qhestions
2. Use of IS 800 - 2097%m1 SP - 6(1) steel table’ls‘ perm:tted

3. Missing data, i/;%my} may be suitably assumied.
oy,
- ‘/ 7
1 a. State and explain “design streng‘h of a bolt”. \ve ¢ (06 Marks)
b. Two plates of 410 grade and’ of * thickness, 8 mm each are Jap jointed using 16 mm dia bolts
of grade 4.6 calculate the deSJgn strength of bolt. (14 Marks)

\/ v

2 Calculate the des1gn load ‘P’ for the joint shown m'Flg Q2. 18 mm dia grade 4.6 bolts are

used. RN
4 . & ¢ Lzoo“‘—%
QY 6o
6o
o | ;'
’ b ket
-+ + T ‘::iz 12mu
- p— 200 MM — thieK .
¢ W
Fig Q2 (20 Marks)
3 a. Whatare the advantages and dlsadvantages of welded connectlon? (06 Marks)

b. A T-section of size 150x150x10 mm is welded" ‘to a column as shown in Fig.Q3(b).
Determine the bracket load it can carry. Take size:of weld of as 8 mm.

g ¢ @ PN A
% &—1e0 - y Pl .
\ /, Yy
e R Vo
s
y
. \;y Fig.Q3(b) (14 Marks)
4 Design a tensipr‘x{fﬁember using single angle section to carry load of 180 kN. Use HSFG
bolts of M20 with property class 8.8. Do the necessary check. (20 Marks)
"y‘?”‘?’.
\v. 4 10f2



b. Mention,

N 09ENG65
N [

Design a column section using double channels bacl@%" back to carry a factored load of
2000 kN. The height of the column is 5 m with boththe end hinged. Also design a suitable
lacing system. B (20 Marks)

R e

L O | .y
Design a slab base for a column ISHB@G‘;@ 577N/m carrying ammﬁal factored load of
1000kN Mo concrete is used for ,tlﬁe\foundation. Provide welgedr connection between

column and base plate. A. (20 Marks)

b 4

L
iy

A%

P v
b O
an B/

B

o,
A roof of a hall measuring 8mx12m consists of 100mm thick R.C slab supported on steel

I- beams spaced 3m apartas shown in Fig Q7. The finishing load may be taken as 1.5kN/m’
and Live load as 1.5 kN/m?!Design the steel beam.., -
LN v

- Y -
"V | am
S = +
s ‘ 3%
N\
e A\ ) v?‘
3m
~“ - /‘/
3m vad
o U —Hg 03
e (R © <L-’?"\/
o, (N ' Vel
?’ ¢ .ﬁFl.g- Q7 Y ’ (20 Marks)
\ii;&y | ,ég s “ \\:,7* y
Explain\»‘%g,design steps invol¥ed in lacing system. \pw” (10 Marks)

the advantages agg-gisédvanMges of bqlte}l connection and explain the following
terms’with a neat sketche J )

i);’\, »Pitch of bolts N4 - :;
- oo . 2 4 By
i) Gauge distance( 3;{ \{‘f’

i) End distance( %y, ¥ P

iv) Edge distancg“*"} e,
v) Stagge{% ‘distance. %\’*’*}Y (10 Marks)
€Y, ° \#
4
S, * ok K ok K
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